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SEC(A) PHYSICS

1. The pressure which is exerted by air around us is
known as

(a) force

(c) muscular force

b) atmospheric pressure
(b) p p
(d) friction

2. The force exerted by the earth to pull the object
towards itself is called

(a) electrostatic force (b) gravitational force

(c) muscular force (d) contact force

3. The force exerted by a charged body on another
char

(a) gravitational force (b) electrostatic force

(c) non-contact force (d) contact force

4. Force changes the
(a) motion of body
(c) shape of body

(b) speed of body
(d) all of these

5. A spring balance is used for measuring
(a) mass (b) weight
(c) pressure (d) speed

6. Leaves fall down on the ground due to
(a) electrostatic force (b) magnetic force
(c) gravitational force (d) muscular force

7. A push or pull on an object is called
(a) Pressure (b) Push-pull
(c) Force (d) All of the above

8. Friction is a
(a) non-contact force (b) contact force
(c) magnetic force (d) electrostatic force

9. If we apply oil on door hinges, the friction will
(a) increase (b) decrease

(c) disappear altogether

(d) will remain unchanged

10. Sound cannot travel through
(a) air (b) water
(c) glass (d) vacuum

11. Which of the following is true
(a) we write on paper with pen due to friction
(b) A nail is fixed in the wall due to friction

(c) Soles of shoes wear out due to friction
(d) All of these
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12. If we apply the force along the right the friction
acts along the

(a) right direction
(c) can not say

(b) left direction
(d) none of these

13. Which of the following can produce a virtual
image ?

(A) Plane mirror (B) Concave lens

(C) Convex lens (D) All of these

14. When a glass rod is rubbed with a piece of

silk cloth

(A) Both cloth and the rod acquire positive charge
(B) Rod becomes positively charged while the cloth
has a negative charge

(C) Rod becomes negatively charged while the cloth
has a positive charge

(D) Both cloth and the rod acquire negative charge.

15.The voice box is also called as
(a) stomach (b) heart (c) larynx  (d) mouth
16.Sound is a kind of

(a) work (b) energy (c) force (d) pressure

17.The hearing range of human ear is
(a) 20 Hz to 20,000 Hz (b) less than 20 Hz
(c) more than 20,000 Hz(d) 20 Hz to 25,000 Hz

18.1 hertz is equal to

(a) 1 vibration per minute

(b) 10 vibrations per minute
(c) 60 vibrations per minute
(d) 600 vibrations per minute

19.Following are precautions one must take in
case a storm is accompanied by lightning.

(i) Do not take shelter under a tree.

(i) Do not take shelter under an umbrella with a
metallic end.

(iii) Do not take shelter in open garages, storage
sheds, etc.

(iv) Do not take shelter in a bus in the open.
Which one of these is not correct?

(a) (1) (b) (i#)  (c) (i) (d) (iv)

20. A fire alarm usually detects smoke in case of
fire. Where should such an alarm be placed in a
room?

(a) Near the door (b) On the floor

(c) Onany wall  (d) On the ceiling
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21. The winds from ocearry water and bring rain.
These winds are called

(a) typhoon  (b) monsoon

(c) cyclone  (d) none of these

22. Pick the odd one out
(a) Cyclone (b) Hurricane
(c) Monsoon (d) Typhoon

23. Weather changes

(a) week after week(b) day after day
(c) within a short period

(d) in any of the above time period

24. Rainfall is measured by

(a) rain gauge(b) water level increase in ponds
(c) water level increase in water table

(d) none of these

25. A bus travels 54 km in 90 minutes. The speed
of the bus is
(a@) 0.6 m/s(b) 10 m/s(c) 5.4 m/s(d) 3.6 m/s

26. If we denote speed by S, distance by D and
time by T, the relationship between these
guantities is

(@Q)S=DxT(b) T=S/D
(¢)S=1/TxD(d)S=T/D

27 Nearly all the clocks make use of
(a) straight line motion(b) periodic motion
(c) random motion(d) circular motion

28. A simple pendulum takes 42 sec. to complete
20 oscillations. What is its time period?

(@21s

(b)4.2s
(c)21s
(d)8.40s

29. The correct symbol to represent the speed of
an object is:

(@) 5m/s

(b) 5mp

(c) 5m/s™

(d) 5s/m

30. Which one of the following is based on the
heating effect of current?

(a) Geyser

(b) Hair dryer

(c) Immersion rod

(d) All of these
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SEC(B) CHEMISTRY

31. Full form of LPG

(a) Light Petroleum Gas

(b) Liquefied Petroleum Gas
(c) Long Pipe of Gas

(d) Long Petroleum Gas

32. The burning of LPG is an example of
(a) rapid combustion

(b) spontaneous combustion

(c) slow combustion

(d) explosion

33. A temperature at which the substance burns
is called

(a) melting (b) boiling temperature

(c) kindling temperature

(d) evaporation

34.Which is non-renewable source of energy’?
(a) Natural gas

(b) Wind energy

(c) Tidal energy

(d) Mechanical energy

35.The amount of heat energy produced on
complete combustion of 1 kg of a fuel is called
(a) calorific value

(b) significant value

(c) heat value

(d) internal energy

36. Which of the following statement is true about
compounds ?

(a) Compound is homogeneous and have fixed
composition

(b) Compound is heterogeneous and have fixed
composition

(c) Compound is heterogeneous

(d) Compound is heterogeneous and has no fixed
composition

37. Which of the following is an element?
(a) Diamond (b) Lime
(c) Baking powder (d) Common salt

38. Which of the following statement is always true
when a substance undergoes physical change

(a) It changes colour

(b) A new substance is formed

(c) It boils

(d) Its composition remains the same
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39. An atom with 3 protons and 4 neutrons will
have a valency of

(a) 3 (b) 7

()1 (d) 4

40. The ion of an atom has 2 negative charges. Mass
number of the atom is 16 and the number

neutrons are 8. What is the number of electrons in
the ion?

(a) 6 (b)7

(c)8 (d)10

41. The number of electrons in an element X is 15
and the number of neutrons is 16. Which of the
following is the correct representation of the
element?
(a) 31 15X
(c) 645X

(b) 3116X
(d) 516X

42. Anode rays are produced when
(a) cathode is perforated

(b) anode is perforated

(c) when low voltage is passed

(d) when pressure is high

43. Which one of the following metals is the most
ductile?

(a) Aluminium

(b) Copper

(c) Silver

(d) Gold

44. The metal which is not corroded by air, water
and acid is

(a) copper

(b) zinc

(c) aluminium

(d) gold

45. Metals are
(a) soft and brittle
(b) hard and solid

(c) liquid

(d) generally liquid

46. The best electrical conductor is
(a) gold
(b) copper
(c) silver

(d) aluminium
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47. What is the other name for artificial silk?
(a) Nylon

(b) Rayon

(c) Acrylic

(d) Polyester

48. Wood pulp is used to make
(a) plastic
(b) wool
(c) jute
(d) rayon

49.Which one of the following is a reliable
measure?

(a) Hotness

(b) Coldness

(c) Temperature

(d) None of these

50. Name the device which is used to measure
the hotness or coldness of an object.

(a) Picometer

(b) Barometer

(c) Manometer

(d) Thermometer

51. Which one is filled in the bulb of a
thermometer?

(a) Mercury

(b) Lead

(c) Copper

(d) Silver

52. What is the normal temperature of a healthy
person?

(a) 37°C

(b) 37°F

(c) 37K

(d) None of these

53. Conduction is the method of transfer of heat
in

(a) liquids

(b) solids

(c) gases

(d) vacuum
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54. A beggar wrapped himself with a few layers
of newspaper on a cold winter night. This helped
him to keep himself warm because:

(a) friction between the layers of newspaper
produces heat.

(b) air trapped between the layers of newspaper
is a bad conductor of heat.

(c) newspaper is a conductor of heat.

(d) newspaper is at a higher temperature than the
temperature of the surroundiong

55. Out of these gases which one is used in fire
extinguishers
(a) CO2

56. The correct way of making a solution of acid
in water is to

(a) add water to acid

(b) add acid to water

(c) mix acid and water simultaneously

(d) add water to acid in a shallow container

57. Which of the following set of substances
contain acids?

(a) Grapes, lime water

(b) Vinegar, soap

(c) Curd, milk of magnesia

(d) Curd, vinegar

58. What is the scientific name of mulberry tree?
(a) Magnifera indica
(b) Morus alba

(c) Desmodium girence
(d) None of these
59.Silk is derived from
(a) cocoon

(b) pupa
(c) egg
(d) moth

60. The rearing of silkworms for obtaining silk is
called:

(a) cocoon

(b) silk

(c) sericulture

(d) silviculture
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SEC(C) BIOLOGY

61.Binary fission is observed in
(a) Hydra

(b) yeast

(c) Amoeba

(d) human being

62.Asexual reproduction is observed in
(a) cow

(b) buffalo

(c) sponge

(d) hen

63.The animals that produce new young ones are
called

(a) viviparous

(b) oviparous

(c) both

(d) none of these

64. Ovum or eggs are formed in
(a) ovary

(b) testes
(c) penis
(d) ovident

65. How many pairs of Chromosomes are found
in nuclei of their cells?

(a) 22 pairs

(b) 23 pairs

(c) 24 pairs

(d) 25 pairs

66.Children gain height during
(a) adolescence

(b) endocrine

(c) balanced food

(d) menarche

67.Adam'’s apple is
(a) enlarged larynx
(b) mammary glands
(c) apple of adam
(d) red apple

68.0ut of these which one determines the sex of
the baby?

(a) Hormones

(b) Chloroplast

(c) Chromosomes

(d) Pituitary gland
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(a) Menarche
(b) Menopause
(c) Gametes
(d) Insulin

(a) Insulin

(b) Alcohol

(c) Streptomycin

(d) Paracetamol

771.The status of algae in the aquatic food chain is
(a) consumers

(b) producers

(c) host

(d) small in size

~— — —

72.The rod shaped bacteria are called
Bacillus

Coccus

Vibrio

Spirillum

73.Testes secrete
(a) thyroxin

(b) estrogen

(c) testosterone
(d) iodine

74.1n males, the sex chromosome consists
(a) one X and one Y

(b) both X and X

(c) bothYand Y

(d) one M and one X

75.Larynx is also called
(a) Voice box

(b) Sound box

(c) Black box

(d) All of the above

76.Menopause occurs at the age of
(a) 10-12 years in boys

(b) 45-50 years in men

(c) 10-12 years in girls

(d) 45-50 years in women

69. What is the stoppage of menstruation called?

70.Which of the following drug is an antipyretic?
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(c) sericulture (c) Y| IdTeH
(d) silviculture (d) Rredider
79.Which of the following is a nutrient? 79. PraffRd & ¥ B9 91 915 dd 27
(a) Protein ot
(b) Fat EZ)) il
(c) Vitamin
(c) faerfem
(d) All of these @ g
80.Human beings can be categorised as
(a) heterotrophs so.ngmaﬁsﬂuwalil'qsaﬁvmw SRR
(b) autotrophs (a) fawHamg
(c) parasites (b) W-Ud
(d) saprotrophs (© tRTSﬁ?ﬁ
(d)
81.The food making process in plants is called as g1, Qrell 3 4TS ST o b Y o] el SiTell 27
(a) glycolysis (a) TS PITSRIA
(b) photosynthesis (b) TBTRT TLAHUT
(c) photolysis (c) WIcIferg
(d) chemosynthesis (d) TG TLAWOT
?aZc.:}[/c\ggi/c?h part of the plant is called its food %2. I & BT U B STPT WTE HRGHT HET Sl
: ?
(a) Fruits |
(b) Seeds (&) ggu(Tb) it
(c) Leaves ©
(d) Flowers (d) et
83.Tiny pores present on the surface of leaves 83, Uil &1 s R A Bl¢ s e mream @
through which gaseous exchange occurs are Wﬁﬁmm% HEA §
called (@) ¥
(a) stomata ORISEAREILY
(b) guard cells (o) T &g
(c) food holes (d) 1 o
(d) gas holes
84.Bile is produced in 84. fOd &1 Iare foad glar g2
Ebg glall tC)IIadder (a) ToraTerar &) Aelt
00 b) Y&
(c) Liver ((C))W
(d) Spleen (d) Tt

10
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85. The finger-like outgrowths of Amoeba helps
to ingest food. However, the finger-like
outgrowths of human intestine helps to:

(a) digest the fatty food substances

(b) make the food soluble

(c) absorb the digested food

(d) absorb the undigested food

86.The main function of the lacteals of intestine
is the absorption of

(a) amino acids

(b) glucose and vitamins

(c) lactic acid

(d) fatty acids and glycerol

87.Which is not digested by human?
(a) Protein

(b) Fats

(c) Glucose

(d) Cellulose

88.During the process of exhalation, the ribs
move

(a) down and inwards

(b) up and inwards

(c) down and outwards

(d) up and outward

89.Which are the gases involved in breathing?
( ) 02 and NOz

(b) 02 and SOz

( ) 02 and 03

(d) 02 and COz

90. Name the organ of the body in which the
blood is oxygenated.

(a) Heart

(b) Lungs

(c) Lever

(d) Pancreas

11
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85. SHET B STl oRkt gfg o Pl fATTe § Aag
Hl 2| Telifes, TG 3fid & ST ot afgafe &
Wm%

(a) TIRIE T UGl 1 T

(b) HISH P ga-=id 1

() U §U IS &1 Sa=Nyd H=T

(d) 5FTT o YIS P1 Sa=Nsd &

86. 311d & Afdead &1 T ST Eyor §
b

(b)

(c) e 3

(d) el TS 3R fremRTa

87. S A GRT U=I T8} Sl 87
(a) U

(b) a4l

() DI

(d) Fegalsl

88. 1T Bls ! UfehaT & SR, Tferdl bl
RFaRd far ST 8

(a) T 3R HiR Pt 3R

(b) I 3R iR BT 3R

() I 3R TR BT 31

(d) SR 3R IR Pt 3R

89. 4T & P I Y =i 87
(a) 02 and NO,

(b) 02 and SOz

(c) Oz and O

(d) 02 and COz

90. TRR & I 3T BT 719 a1z forgH Iad i
gad gl o

(a) g

(b) BS

(c) AR

(d) SRR
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SEC(D) MATHEMATICS

91. How many sides does decagon has?
(a) 8 (b) 10(c) 6 (d)12

92. The fraction 2/5 converted to percentage is
(2) 20% (b) 30%(c) 40% (d) 50%.

93.6x>+17x+5="7?
() (2x + 1)(3x+5)
(c) (6x +5)(x +1)

(b) 2x +5)(3x + 1)
(d) none of these

94. Find the cube root of 343.
(A)6(B)7(C)5(D)4

95. 25% of a number is more than 18% of 650 by 19.
The number is :
(A) 380.8 (B) 450 (C) 544 (D) None of these

96. A trader allows a trade discount of 20% and a cash
discount of 6 % % on the marked price of the goods

and gets a net gain of 20% on the cost. By how much
above the cost should the goods be marked for

sale ?

(A) 40% (B) 50% (C) 60% (D) 70%

97. The surface area of a cube is 1734 cm?. Its volume
is:

(A) 2197 cm® (B) 4913 cm?®

(C) 2744 cm® (D) 4096 cm?®

98. How many bricks, each measuring 25 cm x 11.25
cm x 6 cm will be needed to build a wall 8 m long,

6 m high and 22.5 cm thick?

(A) 5600 (B) 6000 (C) 6400 (D) 7200

99. If 1/2 is subtracted from a number and the
difference is multiplied by 4, the result is 5. What is
the number ?

(A) 8/9 (B) 7/4 (C) 6/4 (D) 1/3

100. Amit’s monthly income is 30% more than that of
Raunak. Raunak’s monthly income is 20% less than
that of Deepak. If the difference between the monthly
income of Amit and Deepak is * 800, what is

the monthly income of Raunak?

(A) Rs. 12000

(B) Rs. 16000

(C) Rs. 20, 000

(D) None of these

12

91. SHWH & fohe Yl 87
(a) 8 (b) 10(c) 6

92. firet 2/5 Ufawrd & uiafdd fopar T g2 -
() 20% (b) 30%(c) 40% (d) 50%.

(d) 12

93.6x?+17x+5="?
(@) (2x + 1)(3x+5)
(c) (bx +5)(x +1)

(b) @x +5)(3x +1)

(d) STHI DS Ta!

94. 343 BT G-THd J1d Biford |
@6(Mm)7()5(4

95. U TTJAT BT 25% 650 P 18% I 19 3P g1
ﬂ'@ﬂ%
(a) 380.8 (b) 450 (c) 544 (d) 378 I PIS -Tg!

96. T STIR 20% P1 TR e MR 6. % I ehg
Fc B ST el B 1 I & 3ifhd Heg | 3R ATG
TR 20% BT Y AT UT Bial g | A1 ! ArTd
T aiferer o forg fafgd favan S =T fawt?

() 40% (b) 50% (c) 60% (d) 70%

97. T U H1 Y¥TT 8B 1734 aFf It g | I
3{TIEH &

(A) 2197 cm® (B) 4913 cm?

(C) 2744 cm® (D) 4096 cm?

98. 8 Hiex Tall AR §91 & forg farat Sef &t
3wl gill, oA T U &1 | 25 JHT x 11.25
It x 6 I BN 6 Hiex Sam 3R 22.5 A Aer?

(a) 5600 (b) 6000 (c) 6400 (d) 7200

99, gfe for<lt T=AT A 1/2 UHIT 91T § 3R 3R Pl 4
Y ToT 3T ST B, A Uik 5 gYdT § | TRe T 82
(a) 8/9 (b) 7/4 (c) 6/4 (d) 1/3

100. 3ifid &t TR 3 Aa6 B o1 H 30%
3 B 1 AT B HIRYD 3T ITY 20% HH § AP
H11 TS AT 3R U o) 7RIS 3 & o9 B
3fdR 800 TUT &, <l T 82 A1 ! AIRYD 3M1a?

(a) 12000 3T

(b) 16000 ST

(c) 20,000 FTY

(d) 3TH I IS 8!
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101. A student has to secure 40% marks to pass. He
got 40 marks and failed by 40 marks. The maximum
number of marks is :

(A) 160 (B) 180 (C) 200 (D) 320

102. A number consists of two digits whose sum is 12.

If 18 is added to the number, its digits get reversed.
The number is :
(A) 28 (B) 35 (C) 57 (D) 34

103. Three angles of quadrilateral are in the ratio 1: 5:
6. The mean of these angles is 64°. Find the fourth
angle.

(A) 168° (B) 162° (C) 120° (D) 90°

104. The negative of -2 is
(a)-2 (b)2 (c)-12 (d)12
105. What is the number of sides of a triangle ?
(@1 (b)2 ()3 (d) 4.

106. Which of the following does not lie on y-axis?
(A) (0,5) (B) (0.-2) (C) (-3,0) (D) (0.7)

107. Find the value of mif 2= 8.
(A)4(B)3(C)2(D)1

108. The value of——| —><— |+% is?
(A)1(B) 0 (C) -1 (D) 2/5

109.0n a number line, when we add a positive
integer, we

(a) move to the right

(b) move to the left

(c) do not move at all

(d) none of these.

110.0n a number line, when we add a negative
integer, we

(a) move to the right

(b) move to the left

(c) do not move at all

(d) none of these.

111.0n a number line, when we subtract a
positive integer, we

(a) move to the right

(b) move to the left

(c) do not move at all

(d) none of these.
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101. T fa=meff 1 I=itof 811 & forw 40% i ura
P BTN I 40 37 A 3R 98 40 3ih! A B &)
1| HRHaH Sl Bl T-T B
(a) 160 (b) 180 (c) 200 (d) 320

102. U T | & 3ieh BId & oI TNT 12 BlaT g
Tfe = H 18 SeT o1l 8, df 39 3i% Idc od g
F@IT%

(a) 28 (b) 35 (c) 57 (d) 34

103. YT F A DI 1:5: 6 F UM H 5| 39
PV BT AL 64° T | TNYT 1A B HI0T|

(a) 168 ° (b) 162 ° (c) 120 ° (d) 90 °

104. -2 BT BUNHD HT g7
@) -2 (b) 2 (c) =12 (d) 12

105. Y Pt Y3t o1 T o 32

@ 1 ()2 (c)3(d 4.
106. FRfoiRad o Q &9 1 y-31ef R f[¥yd 781 82
(a) (0, 5) (b) (0,-2) () (-3,0) (d) (0,7)
107. 9f& 2™ = 8§, Al m T HF AT DI |
(@) 4 (b) 3 (c)2(d) 1
108. L(2.2 1.2 @AM

5 V2 10 3

(@1 (b) 0 (c) -1 (d) 2/5

109. T ISAT XM WR, O §H TH YT Ul
oiSd &, dl 8H

(a) TS 3R F&

(b) ST 3R T S .

(c) foegpt +ft feerr-g e -1et

(d) TH Y IS &

110. T IRSAT XM WR, O H TH HBUTHAS Julich
oS &, dl 81

(a) TTS 3R ggT

(b) ST 3R o S

(c) foegpet +ft fee -G et

(d) FTH Y IS &

111. T TRSAT AT WR, Ofdl §H Uh YT YUl gera
g drgd

(a) TS 3R TeT

(b) TS 3R o ST

() forepd ot iea1-gar 11

(d) TH Y IS T |
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112.When two positive integers are added, we get 112,979 g ¢FTHS Yuifes SIS TTd &, 84 U g1l &
(a) a positive integer (a) YT U
(b) a negative integer OEARERWIEY
(c) sometimes a positive integer, sometimes a () pH-HH tH WW Hyt-Ht
negative integer FHUMED TOTT
(d) none of these. (d) STH I S T
113.(-1) x (-1) x (-1) % ........ 10 times is equal to 113.(-1) x (-1) x (-1) % ......... 10@%&%@[@?%?
(@) 1 (b)-1 (c) 1 or-1 (d) none of these. @) 1 (b) -1 (c) 13T - 1 d) TH I BIS 78l
114.How many vertices does a triangle have? 114. Bryet & fraa =i g1 g2
(@1 (b)2(c)3 (d) 4 @ 1(b)2 ()3 (d)4
115.How many angles are there in a triangle? 115. By o fvem P01 7
(@1 (b)2 (c)3 (d)4 @ 1(b)2(c)3(d)4
116.If two sides of a triangle are equal, the "l‘_’”qw o &
triangle is called ;;ﬁ%%;%%?ﬁaﬁﬁ € @ BT
(a) isosceles THfETE ’
(b) equilateral (Z)
(c) scalene Ec)) N
ht-angled
(d) right-angle (d) FHBITT
117. If one angle of a triangle measures 90°, the 117.9f¢ Wﬁ‘]i\_y[a)—[ W?ﬁm 90° HUA] % ar ﬁai\—y[
triangle is called P I HET SlIdl 22
(a) acute-angled (a) g BT qTET
) cbtuceangld © sy
(d) none of these © (o) FH I PI T
118. How many median a triangle have? 118'Wﬁﬁaﬁi et FfereRTY B Wenel &2
(a) 1 @1
(b) 2 (b) 2
(c) 3 ()3
(d) 4 (d) 4
119. The solution of the equationx — 6 =1 is 119. THIHRT x - 6 = 1 BT & T §?
(@)1 (@1
(b) 6 (b) 6
(c)-7 (0 -7
(b)7 (b) 7
120. The solution of the equation 7n+5=12is 120. GHIHRUT 7n + 5 = 12 BT g AT 27
(a) 0 @0
i
(©1

14
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SEC(E) ENGLISH
.Choose the correct alternative. ( w#t faeea gf)

121. Theteacher ........c.cccue..... to meet you.

(i) wants (i) want
(iii) is wanting (iv) will wanted
122. She..ccooovveveeen. JUSE e her work.
(i) has ; finished (ii) X ; finished
(iii) had ; finished (iv) is ; finishing
123. Mohan ..................... for you since morning.
(i) has wanted (ii) has been waiting

(iii) had waited (iv) waited

124. 1. a lot of work today.

(i) have done (ii) has done

(iii) did (iv) is doing

125. He will tell you when he ...................... back.

(i) comes (ii) will come (iii) has come (iv) came

126 to 130.Choosing from the option given.
(f o foremet & & T1)

126.The study of Mathematics brain

(i) requires (ii)required

(iii) will require(iv) require

127. Game after game played

(i) was (ii) will be

(iii) were (iv) are

128. The servant had finished his work

(i) I called him (ii) I have called him

(iii) I had called him(iv) Would have called him

129. He

when

from fever since last night.
(i) is suffering (i) has been suffering
(iii) has suffered(iv) was suffering

130. Itelephoned her when I
(i) will reach (ii) reach (iii) reached

home.
(iv) reaches

SEC(F)MENTAL ABILITY

131. What is the next term in the given series ?
3,6,9,12, ......
(A) 13 (B) 14 (C) 15 (D) 16
131. € T SRIQ B SATAT UG T 8?2 3, 6, 9, 12, ..
(@) 13 (b) 14 (c) 15 (d) 16
132. Which of the given group of letters will complete
the given series ?

ba b _aab_a b

15
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(A) baab (B) abba (C) abaa (D) babb
132, 3T T 31eRT & 9 HF 91 g € I g7 &l
ORI HA?
ba b _aab_a b
(A) baab (B) abba (C) abaa (D) babb
133. Three out of the four options are same in a certain
way and so form a group. Find the odd option that
does not belong to the group.
(A) 1:10 (B) 20: 200 (C) 3:30 (D) 5: 55
133. IR fawed! & I o Te Midd aid § 999 &
3R TMIT TP YHE §1d & | 98 Soils fadhed I
PR o Jg J Yeiferd 72T 81
(a) 1:10 (b) 20: 200 (c) 3:30(d) 5: 55
134. The 2 groups of letters on the left have some
relationship between them. Replace the '?' with a
group of letters so that the 2 groups of letters on the
right have the same relationship.
ABC : EFG:: IJK:?

(A) ABC (B) XYZ (C) DEW (D) MNO
134. §T2 3R 3R] & 2 TgI & o $S J&Y ¢ |
3{eR} & Th THE & 1Y '?' DI gaal difdh alg 3R
3{eRT & 2 TgI BT THH T&e 7l

ABC : EFG: IJK:?
(A) ABC (B) XYZ (C) DEW (D) MNO

135. A cube of side 4cm is painted black on the pair of
one opposite surfaces, blue on the pair of another
opposite surfaces and red on the remaining pair of
opposite surfaces. The cube is now divided into
smaller cubes of equal sides of 1cm each. How many
smaller cubes have 3 sides painted ?
(A)6(B) 12 (C)8 (D) 16
135, 4 YHT YOI aTel Ueh 94 B T fAURId Iadg Bt
SIS} R HTel, G¥R P SIS W e &1 fear mar |
faudia gdet ik faudia Tag! ! IV Set W ard|
YA 1 3 H AW fbar man g udiep 1 AP
TR Y13l & BIc Fgau | fba- Bic g+l Bt 3 Yol
faf¥a g2
(@ 6 (b)12(c) 8(d) 16
136. What is the next term in the given series ?

121, 144, 169, 196, .......

| (A) 200 (B) 249 (C) 250 (D) 225

136. < TR SR H SATAT US T 87
121, 144, 169, 196, .......

| (A) 200 (B) 249 (C) 250 (D) 225

137. What is the next term in the given series ?
41, 47,59, 67, .......

| (A) 75 (B) 73 (C) 71 (D) 83

137. & T SRgT F ST UG R @2
41, 47,59, 67, .....

| (A) 75(B) 73(C) 71 (D) 83
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138.A die is thrown 24 times. How many times do
you expect the number ‘4’ to come up?

(A) 6 times (B) 24 times (C) 4 times (D) 12 times

138. U STs 24 IR Urap! Il g | 3117 '4' A& 3 B

forat IR SRflE R 72

(@) 6 R (b) 24 T[T (c) 4 dR (d) 12 IR

139. Mohan is 18th from either end of a row of boys ?
How many boys are there in that row ?

(A)26 (B)32 (C)24 (D)35

139. AIgH AS®! &I U Ufad & aHl R ¥ 18d R
W 27 39 ufed & fram ded 87

(@) 26 (b) 32 (c) 24 (d) 35

140. ‘Soldier’ is related to ‘Army’ in the same way as
‘Pupil’ is related to ..........

(A) Education(B) Teacher(C) Student (D) Class

140, TP BT TR I Y I TR & S ey
DIIAEY .........

(a) TR1&TT (b) 1815 () B (d) Par

141. A man walks 3 km northwards and then turns left
and goes 2 km. He again turns left and goes 3 km. He
turns right and walks straight. In which direction he is
walking now ?

(A)East (B) West (C) North (D) South

141. T fad IR 1 3R 3 ot =erar g ok
S¢ Hgdl § 3R 2 et & g1 98 fhR A a1 gear ©
3R 3 forft ST 81 98 TRt SiR gear g SR Iten
AT g 319 I8 foer fo=m & 9 @1 82

(a) 9 (b) I3 () IR (d) f&mor

142. Nageena is taller than Pushpa but not as tall as
Manish. Rama is taller than Namita but not as tall as
Pushpa. Who among them is the tallest ?

(A) Manish(B) Pushpa(C) Namita(D) Nageena

142, T g 9 et § Qe Ay Rt avelt e
1 X A S T § AT gout v T e B
399 ¥ ®IF TaY a1 82

(a) HHIY (b) QT (c) AT (d) 7T

143. How many 8’s are there in the following sequence
which are immediately preceded by 6 but not
immediately followed by 5 ?
6857854368198546829681368536
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(A) One(B) Two(C) Three(D) Four

143. FafifEa orpa & U fa 8 € & 3l
Ugd 6 § Qfd 31 d1E 5 gl 82
6857854368198546829681368536
(2)TP (b) & (o) T (d) IR

144. Fill in the missing letter in the following series-

SSV,Y,B,?
(A)C(B)D(C)E(D)G
144, RIS §Raa H g 3feR o R—
S,V,Y,B,?
(A)C(B)D(C)E(D) G
145. What should come in the place of question mark in
the following series?
1,4,9,25, 36,7
(A) 48 (B) 49 (C)52 (D) 56
145, fAgfeRad g@ar O Uy g & R IR 1 31
Bl
1,4,9, 25, 36, ?
(A) 48 (B)49 (C)52 (D) 56
146. Flight to Mumbai leaves every 5 hours. At the
information counter | learnt that the flight took off 25
minutes before. If the time now is 10 : 45 a.m., what is
the time for the next flight ?
(A)2:20a.m.(B) 3:30am.
(C)3:55p.m.(D) 3:20 p.m.

146. 4as & o0 Tefge &R 5 ©¢ T a1 gl o | T
PR W G Udl e fob faa@ 4 25 e ugd IsH
135 | A 3re THT YEE 10: 45 T B, < 3T ISH
BT I T §?

(A)2:20a.m.(B)3:30a.m.

(C)3:55p.m.(D) 3:20 p.m.

147. Which is the one that does not belong to that

(A) Polo (B) Chess (C) Ludo (D) Carrom

147. 98 B ¢ o I Teifid el §
(a) TIA (b) AL (c) TS (d) HH

148. A contest began at noon one day and ended
1000 minutes later. At what time did the contest
end?

(A) 10:00 p.m. (B) Midnight (C) 2:30 a.m.
(D) 4:40 a.m.

148. TH UfAITaT Uab fad qusk § = g5 3R 1000
fBe a1g 9T g3 | Ufcrnfiiar oa IHT gs?
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(a) 10:00 oI (b) 3T I (c) 2:30 T (d) 4:40 TS|
149. Which of the following sets of whole

numbers has the largest average?

(A) Multiples of 2 between 1 and 101
(B) Multiples of 3 between 1 and 101
(C) Multiples of 4 between 1 and 101
(D) Multiples of 5 between 1 and 101.

149. Ui Semsfi & fafafed & ¥ fog aq=g &1
3 d T 987 ]?

(A) 1 3R 101 & &9 2 & OIS

(B) 1 3R 101 & & 3 & TUIH

(©) 1 3R 101 & oIF 4 & OTH

(D) 1 3R 101 & &t 5 & 0TH

150. Beena used a calculator to find the product
0.075 x 2.56. She forgot to enter the decimal
points. The calculator showed 19200. If Beena
had entered the decimal points correctly, the
answer would have been

(A) 0.0192 (B) 0.192 (C) 1.92 (D) 19.2

150. &1 9 IS 0.075 x 2.56 P Wio P ol Th
BT IUANT fordT| I8 SRHTT 3ih ol BT

Yo T3 | hagaeR 3 19200 feamar| afe S

EIMAa fagafl &I Tgt & 3 gl bl gidl, dl IR

1 gIan?

(A) 0.0192 (B) 0.192 (C) 1.92 (D) 19.2
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